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Vehicle Comparison on the Ferry

When selecting a vehicle for ferry transport, several factors must be considered—size, weight, and overall
capacity are some of the most important. Each vehicle type presents specific advantages and disadvantages
depending on the purpose of the trip.

The standard car is generally the smallest and lightest option available. It is shorter and narrower than
any other vehicle type and is typically used for personal transportation. These vehicles are not only easier to

manoeuvre and park, but also more fuel-efficient compared to larger alternatives.

In contrast, the large car is longer, wider, and can carry more passengers—up to nine in some cases.
While it provides additional space and comfort, it is usually less efficient in terms of fuel consumption.

Because of its size, it is not always the most convenient option for city driving or limited parking areas.

High cars, such as SUVs or vehicles equipped with roof racks, are taller than standard or large cars. These
are often chosen by drivers who need to transport equipment or luggage on top of the vehicle. Although

they offer more vertical space, they may face restrictions on certain ferries due to height limits.

Finally, the car with a trailer represents the longest and heaviest vehicle configuration allowed on the ferry.
While it is ideal for transporting cargo or additional goods, it is also the most challenging to manoeuvre and

requires more space both on the road and on board the ferry.

What type of words are the ones in bold?
b. Complete each sentence with the correct comparative or superlative form of the adjective in parentheses.

Use "more" or "less" if necessary.

1. The standard car is much to maneuver than the car with a trailer. (easy)

2. Ahigh car is usually than a standard car, especially with equipment on the roof. (tall)
3. Of all the vehicles, the large car is the option for groups of passengers. (comfortable)
4. The car with a trailer is the vehicle allowed on the ferry. (heavy)

5. Interms of fuel efficiency, the large car is than the standard one. (efficient)

6. High cars may be convenient when there are height restrictions. (less)

7. Among all the options, the standard car is still the to park in small spaces. (simple)

What type of words are the one in yellow?
Analyse the word in red.

e. Analyse the phrase in light blue.



